vald foadint *x, It *¥, int n. I6C oo 0
int a[2048], b|&Gas);

fpragna acc karpels copy|x[0:2048], w[0:Z048], a, h]
[
£ B data dep=stdenas
fporagna acc Loop
for Mint i=0; i<2047; Ll++d I
all] = B[i1+1] + 1;
1

) Data depend=nce

Epragma asc Lodp

Eor fint J=0p J=2047; d+43 |
alil = m[3+1] + 1j

1

F Bz data depandanca L z2[] la ot allassd with y[]
#pragna acc loop
for (int Ke=0p K<2047; H++) [
®lk] = wIk+1] + 1;
1

ff Bo deskca deps=adence if ns=m

Fpragna ase Lo

Eor fint l=g; lam; led] 4
x[L] = ®[1l+o] + 17

]



